






Justinw
Typewritten Text
1) Place seat panel (#1) upside down on the ground, then put the base (#2) upside down on top of the seat panel (#1). Make sure the base (#2) is put on correctly. 

Justinw
Typewritten Text

Justinw
Typewritten Text

Justinw
Rectangle

Justinw
Typewritten Text
2) Attach the base (#2) with the seat panel (#1) by screwing in the bolts (#A) with the allen wrench M4 (#C).

Justinw
Rectangle

Justinw
Line

Justinw
Typewritten Text
1) Twist the adjustable foot (#4) onto the bottom (#3) until it's secure and tight.

Justinw
Rectangle

Justinw
Line

Justinw
Typewritten Text
2) Put the floor protectors (#E) onto the adjustable foots (#4) that are attached to the bottom (#3).

Justinw
Typewritten Text

Justinw
Rectangle

Justinw
Line

Justinw
Typewritten Text
3) Attach the bottom (#3) to the base (#2) by screwing the bolts (#B) using the allen wrench M5 (#D). 

Justinw
Rectangle

Justinw
Line




